
   
   

 

A P  E X A M  S C O R E  E S T I M A T E S  
 
 

SECTION I:  MULTIPLE-CHOICE: 
 

 _________     X 1.2272 * =  
number correct    

   Weighted Section I score 

 

SECTION II:  ESSAYS: 
 

  Question 1:   X 3.0556 =  

   out of 9     
        
  Question 1:   X 3.0556 =  

   out of 9     
        
  Question 1:   X 3.0556 =  

   out of 9     
        
   SUM of three essay scores:  

      
     Weighted Section II score 

COMPOSITE SCORE: 

 
 +  =   

 
 
 
 
 

114 – 150 5 
98 – 113 4 

81 – 97 3 

53 – 80 2 
0 - 52 1 

 

A P  E X A M  S C O R E  E S T I M A T E  
 
1. Multiply the number of correct answers by 1.2272. That gives you your “weighted section 1 score.” *(The factor 

1.2272 assumes there are 55 multiple-choice questions. If there are not, divide 67.5 by the number of questions to 
get this factor.) 

2. Add together the scores (out of 9) on your three essays That gives you your “weighted section 2 score.” 
3. Add together your two weighted scores. That number is your composite score. 
4. The “cut points” between grades vary from year to year, but you can use this table to find the grade you would 

have received using these typical figures. 


